MANIFOLD FOR D.C. VALVE

MB6 X 3/8 SERIES

Page - 1/4
Release 04/2015

Unit Dimensions

0.75 31 0.75
g,/MSXO-S tap, 4 nos
A
e
Yo}
T S
[o'e} <
A N
@7 max N o 2
B o
- ‘ O-— iz [
5.95| @ @
16.25 70
Mounting hole for Tapped hole M8X4 Nos
26.55 Iw 38 M6X1 S.H.C. Screw \I 55 | for Optional mounting
Ee— =] —O—&
32.5 4+ oo ¢
® @ 5.2
Interf detail 3 B10 A10 -¢-®-¢-
nterrace aetail. 3/8
© @
Pﬁ-\/-—’\Af L\/\/_/—’b
4 o ¢
@ ® @ [0 P ¢
B3 A3 4 ® 4
4 o %
@ X
B2 A2 ¢ ® 4
“ d [+ &+
© @ 7|
BY Al 0 o 4 +
—_ —_— E=——= ~ - -+
- 1 r A
A AR CEREE L N,
Pl IT | | Pl IT | | 70 70
|| [
st |
G1/2 T P Ty
] ] T
(=
B11 A1 B2l TA2 ~
Hydraulic circuit
40 |15
70
NO.OF *
STATION 1 2 3 4 S 6 7 8 9
" 2 3 4 5 6 7 8 9
Modal No. MB6-3/8" | MB6-3/8" | MB6-3/8" | MB6-3/8" | MB6-3/8" | MB6-3/8" | MB6-3/8" | MB6-3/8" | MB6-3/8"
Order Code | MB-A-08-01* | MB-A-08-02 | MB-A-08-03 | MB-A-08-04 | MB-A-08-05 | MB-A-08-06 | MB-A-08-07 | MB-A-08-08 | MB-A-08-09
A 70 120 170 220 270 320 370 420 470
B 58 108 158 208 258 308 358 408 458
Note:- * P & T Connection size- 3/8"BSP
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot n0.-433 G.1.D.C. Odhav Fax 1 +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com

Ahmedabad-382415 INDIA

59

Website : www.jacktechhyd.com




MANIFOLD FOR D.C. VALVE Page - 2/4
MB6 X 1/2 SERIES Release 04/2015

Unit Dimensions

0.75 31 0.75
M5 X 0.8 tap, 4 nos
] A
¢
P T [Te)
AR B
N~
@7 max. N o 2 o
B =
—D- ‘ O-— G3/4 TP
© @
595|
16.25 95
Mounting hole f Tapped hole M8X4 N
26.55 20 55 M8X1.2(5)usn.l-r|].0. g:re(\)hl/’ l\ 75 | foa:'popf)ztionoalemountingoS
Er——| —O—F
32.5 @ @ +$®$+
. 510 A10) - ® 4
Interface detail. G1/2
e 4 o
© ® 5.
4 o ¢
@ ® @ [0 P ¢
B3 A3 - @ 4
4 o %
& o
B2 A2 o ¢ ® .¢.
® o |+ &+
® @ 7 |wk
B1 Mjl o % 4
r——  r——1 === & ‘*‘%
26 9 Thru
sl et TR A =
PIIT 1 P 1 95 95
|| [
[ [
P
[l [l G3/4 - p | @
I T i A
B1T TA1 B2l TA2 3
Hydraulic circuit
55 20
95
NO.OF *
STATION 1 2 3 4 5 6 7 8 9

N 2 3 4 5 6 7 ] 9
Modal No. MB6-1/2 MB6-1/2" | MB6-1/2" | MB6-1/2" | MB6-1/2" | MB6-1/2" | MB6-1/2" | MB6-1/2" | MB6-1/2"
Order Code | MB-A-09-01* | MB-A-09-02 | MB-A-09-03 | MB-A-09-04 | MB-A-09-05 | MB-A-09-06 | MB-A-09-07 | MB-A-09-08 | MB-A-09-09

A 83 133 183 233 283 333 383 433 483

B 63 113 163 213 263 313 363 413 463

Note:- * P & T Connection size- 1/2"BSP

JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax @ +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com

Ahmedabad-382415 INDIA 60 Website : www.jacktechhyd.com




MANIFOLD
MB6 X D6K X 3/8"

Page - 3/4
Release 04/2015

Unit Dimensions

0.75 31 , 0.75
5 X 0.8 tap, 4 nos
_( -
A
P 0
- Jﬁzf T o
© <
@7 max. o o &
o [ o
5.95
16.25 ‘
26.55 Modal No. MB6 X D6K X 3/8" BSP
32.5 Order Code MB-A-01-01
Interface detail.
Tapped hole M8X4 Nos
for mounting
—R 9 —
(//7"\\\\ G3/8 Al [B _‘—I
N N
8 u',:’ P % PrIT |
3 ” |
\ T
8 75 T | LLa
|
BOTTOM _¢_ Mj_?_\}_( |_ e B
i—l—— pI 1T
20 | Hydraulic circuit
48
62.5
70
T A
G1/4 4 ¢ G3/8 @
FQEB
@t Foo
g | P ® o
‘ 20| © l*ﬁ s 8 ~ |B x
=5 g
b Ll RH.S.
0| | 70 | 15
50
70
70 0.030] A
45 -
— o |\
o 3 d « |DPRHOGK
e AR
!,,.,Q S .20 |
70
DPRH 06K Detail
JAGCKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax @ +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com

Ahmedabad-382415 INDIA

61

Website : www.jacktechhyd.com




®
MANIFOLD Page - 4/4
MB6 X D6K X 3/8" Release 04/2015
Unit Dimensions
0.75 31 , 075
4$/M5 X 0.8 tap, 4 nos
A

S
S

o

N
o O N

o P o
5.95|
16.25 ‘
26.55 Modal No. MB6 X D6K X 3/8" BSP
32.5 Order Code MB-A-01-02

Interface detail.

Tapped hole M8X4 Nos
for mounting

1 @ P '$‘ F——
-
ANy Gas A B |
N~ S | |
O M}/ |
i ,E . M:? L—tB
' _¢_ BOTTOM '@' e
7.5 J ) ) ]
S Hydraulic circuit
50
62.5
70

40 30 Mounting hole for 55 35 35
M6X1 S.H.C. Screw |——|

e
29
>

100

@

)2
=
?®>¢-

38

52

33
w

Fl—- | —36.8 Thru hole — — B _ _|

4 @ 210 X 30 Deep — _. — =
2 nos

| 0 | 70 30 40

70
75 0.030[ A]
45 —
| —
o Ll 4 S
| %__ 5| — i‘ o
[N N =] | ~
Q) g
. 2 “ |DPRH 06K
DPRH 06K Detail 20 ‘
70
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.I.D.C. Odhav Fax o _+91-(9)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com

Ahmedabad-382415 INDIA 62 Website : www.jacktechhyd.com




MANIFOLD FOR D.C. VALVE

MB10 X 1/2 SERIES

Page - 1/6
Release 04/2015

Unit Dimensions

6 X 1 tap, 4 nos

B A
[(o/
ﬂ}—*_ N
/ P~ e
P 7 g B
211 max. ~®7
G3/4
A Gola
b T © ©
\v2 “
6.3 5 T
21.4
325 | % |
46 i
225, 52.5 20, Mounting hole for Tapped hole M8X4 Nos
| M8 S.H.C. Screw \\ 75 i/for Optional mounting
Interface detail. g pp—— : =)
— _T__.E& 1?—@ C[,(
G1/2_ |a7 B7 <4 -
© ® @78
——— == _f___.P_.-—-_t::
A2 B2 4
-
© © o’ | <
+ ¢+
2
A1 B1 o <
™~ T
B%@A
R
== 9 R
80 | 18 @9 Thru
@14 X 15D
= [ 95 475 eep
ALB 1| A B 1]
[ [
PLIT 1 PLT G3/4 2
[ [ ¥
SN © O -
[l I P
T ] T T T
B11 TA1 B2l Ta2
G 55 |20
Hydraulic circuit o
NO.OF *
STATION 1 2 3 4 3 6 7
2 3 4 5 6 7
Modal No. MB10-1/2" MB10-1/2" MB10-1/2" MB10-1/2" MB10-1/2" MB10-1/2" MB10-1/2"
Order Code MB-A-15-01* MB-A-15-02 MB-A-15-03 MB-A-15-04 MB-A-15-05 MB-A-15-06 MB-A-15-07
A 110 185 260 335 410 485 560
B 90 165 240 315 390 465 540
Note:- * P & T Connection size- 1/2"BSP
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax 1 +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@jacktechhyd.com
Ahmedabad-382415 INDIA 63 Website : www.jacktechhyd.com




MANIFOLD FOR D.C. VALVE Page - 2/6
MB10 X 3/4 SERIES Release 04/2015

Unit Dimensions

6 X 1 tap, 4 nos

.

B \/

pF)-—+—- 3
@11 . G1
o 5 o

3.2

N

16.7
27

37.3
50.8
54

A ™ T
o1 | e
T
6.3 =)
21.4
! 116 !
32.5 30 61 25 Mounting hole for Tapped hole M10X4 Nos
46 M10 S.H.C. Scre\lN N\ 95 /for Optional mounting
. e e —— = i ]
Interface detail. E—FE=—==H-] '@—‘\@—‘—‘EL —
G3/4
=~ B7 g 3—
Taz B2 T3 -
&) Sae? |1
2
Al B -g 3—
T T
—_—1 [Te]
© © 1 | Vel
o o 4 ¥ 4
ol _ — — 0| cl}) _“
E————=35 T - -——
100 \
== [ 29 \G‘l‘lThru
ALB 1| A B 1] 116 58 @17x16 Deep
I I
PLIT 1 PLT | -—
|1 || =
p || || %3 P
[l [
T ] ] T ¢ “
B11 A1 B2l TA2 G1
Hydraulic circuit
30 56
116
NO.OF %
STATION 1 2 3 4 5 6 7
2 3 4 5 6 7
Modal No. MB10-3/4" MB10-3/4" MB10-3/4" MB10-1/2" MB10-3/4" MB10-3/4" MB10-3/4"
Order Code MB-A-16-01* MB-A-16-02 MB-A-16-03 MB-A-16-04 MB-A-16-05 MB-A-16-06 MB-A-16-07
A 120 195 270 345 420 495 570
B 95 170 245 320 395 470 545
Note:- * P & T Connection size- 3/4"BSP
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot n0.-433 G.1.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com

Ahmedabad-382415 INDIA 64 Website : www.jacktechhyd.com




SF

MANIFOLD FOR D.C. VALVE
MB10 X D6K X 3/8"

Page - 3/6
Release 04/2015

Unit Dimensions

6 X 1tap, 4 nos

=
T
B b ‘j
N
1 N o
N ool
P - —+— 139 3
@11 max. @7
AN
&1 | o
6.3 T
21.4
32.5
46
| 20
Interface detail. Modal No. | MB10 X D6K X 3/8" BSP
o
«® G Order Code MB-A-10-01
()
S @8{6
1/4
62.5 |
45 70
20 50
7.5 - 7.5
_| [ o 17.5
= S N
g | e © 5 © N
ZRN $ s
T . @ ;
- & S | A 3/8
G318, RN - -
22 @ © X
ST ‘ T
IL_l_JII
P sormow G A
Tapped hole M8X4 Nos 70 70
7
AB T
70 0.030[ A | l
45
= 20 PIIT |
=) F 2 il
[l & B o Tl a
J <] - ~ ; @ |
_a__ﬁ 4 % é o L L—tB
= PITT
o @ DPRH 06K
DPRH 06K Detail Hydraulic circuit
Phone : +91-(0)79 22892302,03,04
JACKTECH HYDRAULICS
Plot n0.-433 G.1.D.C. Odhav Fax @ +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com
Ahmedabad-382415 INDIA 65 Website : www.jacktechhyd.com




SF

MANIFOLD FOR D.C. VALVE
MB10 X D6K X 1/2"

Page - 4/6
Release 04/2015

Unit Dimensions

6 X 1tap, 4 nos

=
T &
B b ‘j
N
- & o
N ool
P+ 139 3
@11 max. @7
AN
o1 | e
6.3 T
21.4
32.5
46
| 20
Interface detail. Modal No. | MB10 X D6K X 1/2" BSP
o
«® G Order Code MB-A-10-02
()
S @8{6
1/4
62.5 )
45 70
20 50
7.5 . 7.5
_| ‘_ o 17.5
i S N
g | e © 5 © N
ZRN $ s
T . @ ;
- & S | A 1/2
G12_ AR - =
N2y |e | © X
ST ‘ T
IL_l_JII
(P eormow G A
70 Tapped hole M8X4 Nos 70 70
7
AB T
70 0.030[ A | l
45
= 20 PIIT |
=) F 2 il
| [ 5 ° G | LLa
J <] - ~ ; @ |
_a__ﬁ 4 % é o L L—tB
= PITT
o @ DPRH 06K
DPRH 06K Detail Hydraulic circuit
Phone : +91-(0)79 22892302,03,04
lﬂﬂg E;HGTDY.EII'(OﬁthaI\./ICS Fax : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com
Ahmedabad-382415 INDIA 66 Website : www.jacktechhyd.com




SF

MANIFOLD FOR D.C. VALVE
MB10 X D6K X 1/2"

Page - 5/6

Unit Dimensions

6 X 1 tap, 4 nos

T 3.2
A
N7
B/ ';4
N
DF—2 42
N oo
piFA)-—+—- g3
211 max. ~@
AN
o | e
6.3 T
214 77.5 )
60 Modal No. | MB10 X D6K X 1/2" BSP
32.5 20
46 75 |, Order Code MB-A-10-03
| il -
Interface detail. J__é p é
R 75| ~Ex
LN
()]
© N\ /
0 ST NG "
o -~ - -
(7R (o
\\ii// N f/ | -Tapped hole M8X4 Nos
T1 T2
% BOTTOM %__
R
| 85 ) 65
| _25 | 20
T (e}
© 5 @ © o @
G1/4 0
| 1D
= x B
G "%
[ [ 2 A 12
T
L
s
——
Al B_‘—:
80 ! |
45 0,030| A P T I |
19 < 3 T G I Lha
‘li 5 © A»[? .
o — B
o / ) <+ I
10 I . N DPRH-06K T P IT2
TR 2
i = 20 Hydraulic circuit
85

DPRH 06K Detail

JACKTECH HYDRAULICS
Plot no.-433 G.I1.D.C. Odhav
Opp. Bhiksuk gruh
Ahmedabad-382415 INDIA

67

Phone : +91-(0)79 22892302,03,04
Fax 1 +91-(0)79 22892305
E-mail : info@)jacktechhyd.com
Website : www.jacktechhyd.com

Release 04/2015




SF

MANIFOLD FOR D.C. VALVE
MB10 X D10K X 1/2"

Page - 6/6
Release 04/2015

Unit Dimensions

6 X 1 tap, 4 nos

T 3.2
At
AP
B \/ ‘j
N
D2 4;
N oo
piFA)-—+—- g3
211 max. ~@>
AN
o1 | o
6.3 T
214 7.5 '
60 Modal No. | MB10 X D10K X 1/2" BSP
32.5 20
46 75 |, Order Code MB-A-10-04
| il .
Interface detail. J--é P é
R 75| ~E~
NN
(2]
© N /
2 SITNGi o
(] ~
- ~ XN ~ TN -~
Q((%m Q{Um
v Y
\\i// N // | -Tapped hole M8X4 Nos
T1 T2
% BOTTOM %__
R
) 85 ) 65
| 25 | 20
T
) © A
G1/4 ~ B @ N
| 1D
] = 1"
G PP G
D
| e A 1/2
T
LHS 1 !l T |! TOP RHS
! 85
r——"
Al B 1! |
87 | |
52 0.030|A P T I |
23 < 3 T G I Lha
(] o @ L
o Ll w < _r®
o | T . z DPRH-10K T P T72
B = 25 Hydraulic circuit
85
DPRH 10K Detail
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax o _+91-(9)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com
Ahmedabad-382415 INDIA 68 Website : www.jacktechhyd.com




MANIFOLD FOR D.C. VALVE

Page - 6/6
Release 04/2015

MB10 X D10K X 3/4"
Unit Dimensions
6 X 1 tap, 4 nos
T 3.2
Yany
AP
B/ 3
N~
P15
5 «
plF -+~ g3
@11 max. ~@
& O
T
6.3
21.4
325 Modal No. | MB10 X D10K X 3/4" BSP
46 |35 Order Code MB-A-10-06
Interface detail.
0|
© 1/4
: @
116 G X
105 | 116
77,5 85
10 | > 25
—1 —35
tel Z]<~ P —é— o T re
SIS Yy e de g "
3 N £ 74G3/4 RS )]
g 8 o lPlJ_ﬂa B
= - ~ AN p . A
) (ENG PR S e
T1 3 / N i//-m e T
1/2 Pl
B + BOTTOM _‘1?_ i | Top RHS

r—_"
90 Al B0 |
0.030|A I
52 |
9 - Pl IT | |
23 < ~ !
g G | LLa
‘ = 3 !
. X > DPRH-10K
R % S T Pl IT2
Q )
B S|
35 . . .
Hydraulic circuit
. 116
DPRH 10K Detail
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.I.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@)jacktechhyd.com
Ahmedabad-382415 INDIA 69 Website : www.jacktechhyd.com




SUBPLATE
NG 06

Page - 1/6
Release 04/2015

Unit Dimensions

SUBPLATE:- NG- 06 X 1/4" BSP

J10X2 Deep

6.5

—

b

M5X15 Deep

I’

95
80

PO

¢

T

&

&
o
B

7 Max.

&
—

W7a
N

58

¢

34 12

Unit Dimensions

SUBPLATE:- NG- 06 X 3/8" BSP

J10X2 Deep

6.5
5X15 Deep @
4 i =
i A o L G3/8

S 8 PO )%C & @ @

%

N

J7an\ an)

K% ~F ]

81 18.5 44 18.5

]ﬁ(KTECH HYDRH(-"-I(S Phone : +91-(0)79 22892302,03,04

Plot no.-433 G.1.D.C. Odhav
Opp. Bhiksuk gruh
Ahmedabad-382415 INDIA

70

Fax 1 +91-(0)79 22892305
E-mail : info@jacktechhyd.com
Website : www.jacktechhyd.com




SUBPLATE Page - 2/6
NG 06 & NG 10 Release 04/2015

Unit Dimensions

SUBPLATE:- NG- 06 X 1/2" BSP

@10X1 Deep 6.5
5X15 Deep N
Pan NZ
—— S
4 §
44} A L-G1/2
7 Max

/f@
&
o ©

127.5
110
{
b
|

KM |
™
N
102 34 22 58 22

Unit Dimensions

SUBPLATE:- NG- 10 X 1/2" BSP

@17X1 Deep

| @105 /M6X15 Deep 10.7
4 @) - )
@ N\ \\\_, /( B w\ /
X i |
B — 3 - 1/2
8 @ . s> @11 Max. g |
S @ S> W § s o))
ol = |
& Do | |
+ % +
= = AN \F g/
13.5
= 2 41
115 32 68.5
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@jacktechhyd.com

Ahmedabad-382415 INDIA 71 Website : www.jacktechhyd.com




SF

SUBPLATE Page - 3/6
NG 16 Release 04/2015
Unit Dimensions
190
166

6X15Deep g3 6x5 Dee
2 nos 2 nos
T P % O

@)

< ©
o o
A B L M10X20 Deep
SRR IS
311
@ @
@ % % @17x1 Deep
e |
© -
15) I |
o
I3 ! !
I |
108
64
28.5
(TR R
N/ A B N
N ~
BN Y ™
I
- ™
G1/2 @ o B ©
N~
1/4
N RN
)
T X
I~ I~
P +
\F N
41
76
120
]ﬁ(KTE(H HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@jacktechhyd.com
Ahmedabad-382415 INDIA 72 Website : www.jacktechhyd.com




SUBPLATE Page - 4/6

NG 22 Release 04/2015
Unit Dimensions
205
i 180 i
—f{e ENE)
v
$ @ X ~J7X8 Deep
2 nos
2o HW @23 Max. oV
N L M12X25 Deep
6 nos
@ @ B
\C) @ P @ @17x1 Deep
©
(o]
™ \ \
8 ! I
l l
137.5
101.8
54.2
28.8
Nouut? N4 0
o
of ¥ K.J ¢
X 2
Q=@
1/4
N x
(LN
S N
42.3
78
125.6
149.4
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@jacktechhyd.com

Ahmedabad-382415 INDIA 73 Website : www.jacktechhyd.com




ﬁ E SUBPLATE Page - 5/6
FCG 02 Release 04/2015

Unit Dimensions

79.4
76.2
31.9 54
9.5
/ ~N -
2NN (\ A EE» 3
o 2 [ D
& L
< !
o @7x10({Deep
g g ©
E 315 Max @14x1 Deep
B @9
(D) o i
T U M8x16 % i
10 | 120 | 10
140
s er ! !
| |
PN IR
@ @
\\ y \ Y
Of oo
i B 1/2
S
T}
I~ +
b /F_\ /i\}
\\\/}/ A N
N [/
314
72.9
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@jacktechhyd.com

Ahmedabad-382415 INDIA 74 Website : www.jacktechhyd.com




ﬁ ® SUBPLATE Page - 6/6
FCG 03 Release 04/2015

Unit Dimensions

102.4
101.6
33.2 75
20.6
3 N\ o
=D A @ :
o = W/ @
) |
: &
S J7x10|Deep
o © ©
< o S
@17x1 Deep
@23 Max. ——
B 11
7R RN j N
\\ﬁ K M10 x 20 ~ S
11 | 146 | 11
168
l l
R 1N
i /i;}
Ny / S /
ol @
m ~
-~ o
= B 3/4
©
o
= /; N AN
\\2% A ‘\é/
N [/
47.8
92.2
JACKTECH HYDRAULICS Phone : +91-(0)79 22892302,03,04
Plot no.-433 G.1.D.C. Odhav Fax  : +91-(0)79 22892305
Opp. Bhiksuk gruh E-mail : info@jacktechhyd.com

Ahmedabad-382415 INDIA 75 Website : www.jacktechhyd.com




